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Colour management for output linearization of a 9 step grey scale Colour management for output linearization of a 9 step grey scale
W 1,007 '* (dash-star) coordinates to reach W 1,00 lash-star) coordinates to r 1001 ' A DU01 0o
the linearized output with the real the linearized output with the real o o
WY* output| display reflection in office room; output w* . output| display reflection in office room; output
w w*
output| lighter (positiv P) output start output Ilg!ller (positiv P) Eulput - 075,058 start
0,75 0,75+ W " output = [WHinput] ® real
W output = [Winput] +9%° W output = [W¥input] 100;7 os® i - T inverse
=W* output =W* output
0,50 0,50 ‘
*' (star-dash) coordinates *" (star-dash) coordinates
of real output with real of real output with real
display reflection in office room: display reflection in office room;
0,25 darker (negativ N) output 0,25 darker (negativ N) output
W* output = [W¥input] +%°
W¥input = rgb* (=0, 0,125,0.250..,0875, 1) 000,000, W¥input = rgb* (=0, 0,125,0.250...0875, 1)
No.o 0,00, 0,00 Nooo 0,00, 0,00 0,00, 0,00
0,0 0,25 0,50 0,75 1,00 W N 0,0 0,25 0,50 0,75 1,00 W
w0 3n GewBL-an

Three, 5 and 9 colour steps for visual evaluation BIBCKOMOw Bl
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‘samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, exj
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0, 125, 250, 375, 5|00 625 750, 875, 1000

. IMR-000LF, indexGFi=7, 1MR-000GF

witeawy U TUBLOG,U =50 loglY /5Yy) +50, Yy =

NOOw  NO2w N14w  N16w
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0, 44, 125, 229, 353, 494, 649, 818, 1000

Three, 5 and 9 colour steps for visual evaluation
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TUB-test chart gewB Lmeanzatlon coti®R-000LFand Gamma (76 lines) in (5/7)n

, Yu=20, Yyy=100
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Gamma=1 (start), 1,5 (real), 0,667 (inverse); linearisation: Gamma=1(5n), 0,667(7n,d=NO6w:
s v 5 T




